862

> AL > FMHZ0|
(4):mm)
THS 70kgf/at  THS 140kgt/ar

930, 940, 850, #63, #80, 6100, #125 940~063 22
9140, 9150, 9160, 2180, $200, 8224, 480~ 2100 | 25
, 9250 8125~ 9150 30
plolie sl o et NI 0160 @2180 @0200,0224 ®B250 (D35 @40 @45 @50
105kgf/c(10.297MPa) | 210kgf/ci(20.594MPa)
3~8kgf/or
8mn/sec~300mn/sec(FMEL| H|2)
-10-+80¢C
OII:II_I-I‘élnA &%O —_—
Quged Hen > AEZF S
, KS 2& , (GEER)
0|3 ~
100mOI3t 5o 107-250m 51 TWEWETEN 630 | 040-950 | 963680 2100~ 2250
251~630mm0I5t %55 631~1000mm 3 4 600 1.200 1600 2000
1001~1600m0l5} % 1601~2000mn % 4 S Ex S s o : :
SD. LA, (LB) (P, (FB), FC, FD, CA CB, TA, TC o Ak o o Ao ael v
_ i = s 2. 4719 BE 74g 2tole AEERT = 29| HIRLICH
M EXLIOIZ EIER ZEFEUYEH(HEL)
Z ANt 12 EIE(H) Ol LIZ EIE(VH)
(7)1, 030 AJ2IC| KIXIHAS D, LB, FA, FB, CA, CB 1 0] HAIE 52 A 7s8Lct,
2 AR 8415 ()= Tokgi/org UL
3. 1% XS, K4 A5, BAREAE, AR 25 100C 0AAl B 20| BiziUC
=0 3
> FF &Y
WYY | ANEA ey | 2o AEEI | TEEA | SENR RAueR  AdRery | Mewg
1. URETHANE 2.NBR 3. VITON(HZE 1) ¥ BTR FRYA : THS-UZ-RIXIZA
SD, LA, LB, FA, FB, FC, FD, CA, CB, TA, TC EX) THS-40-FA
%30, 840, 850, 963, #80, #100, 8125, #140 . .
Al g 7 ’ ’ 1 3 ’ ’ ’ % 2CMEE T, E Z2HA: | |-, E
L 8150, 8160, #180, 8200, $224, 8250 e e
= = 3 BY-ZY CY-=288 THS-50C-I
B MEHALOE THS-60B-NUT

U 1>
rz||m
o2t | Hu
1=
P
09
A
Hu
rz
P
Hu
In
A

FH HBIES 24 N-FHUS  x igser 2284 THS-LIZ-AS-SKRZIUNN)
HiZH(PT)IXI-A, B, C, DAY &X) EX) THS-40B-SK-U

A B, C, D1 &X)

S/W(EE=A7| 27E)

=
rH
o

—u
rx
NE
do

Hr||T

rx|(|>
do
2
>
>
2
02 (0!
ne
=

] 142 ZOIE(), ol 1S FOIE(YE), Y2CH, WHy
(F) O3 =2 MEMLE0|02 e F2S HIgLC
1) 2C BH D30 EX2
2) M0 WE =2 ZHIZEF 2/100m

«2H RH0| LA X S8
1. RHESHOE Bi7 B0 24
ZFsH0r HEBLIC
(N2 gaoz 300 2872 450}
(BAIH B8O B0 AE72 250} &
- L= _ 2. 0| LB RELSUEE SHOIURH ImmAT BRI
BB : A FEXIUSLE  Dxmpzl AENA REUSHIOE B2 £98 2UEUD,
EFEIMWHRIR : B

A

ETNECE

i
]

13.)
a)
3mi

nE |-

o




get 278 geif THS Al2|=

> LR AXE

@ﬁﬂi@

»30~6100 ®125~0250

> 2= List
1 2 = SM45C 1 6 2 M8 3 SM45C 1~2
2 = Al SM45C 1 7 o A E #30=BC3, SM45C 1
3 E 4 x SS400 1 8 Et O] 2 E SM45C 4
4 EEAHH #30=BC3, SS400 1 9 & E AHH #30=BC3, SS400 1
5 5 =} STKM13C or STKM13A 1 10 E| E SM45C 8

» Packing List
-———-_---

OEI

—

30 - K6 - 16X24X5 SK—30 AN108 - 630
940 | K22 K18 | B-22 | B-18 « 22X30X5-2 | 18X26X5-2 G40 G40 S45 & S45 - 40X30 - AN111 | G35 | G40
¢50 | K28 K22 B-28 B-22 28X35.5X5-2 22X30X5-2 G456 G45 | S50 | S50 - 50X34 - AN114 | G45 | G50
¢63 | K35 K28 B-35 B-28 35X45X6-2 |28X3b6.5X6-2 GBS G55 =~ S60 & S60 - 63x47 - AN114 G55 & G60
¢80 | K45 K35 B-45 P-35 4b5X55X6-3 = 3b6X46X6-2 G65 G656 | S70 | S70 - 80X60 - AN211 | G75 | G80
¢100 | K55 | K45 B-55 | P-45 | 55X65X6-3 | 4bX55X6-3 G75 @ G75 S80 =S80 - 100X75 - P34 | G9 | G100
¢125 | K70 | K55 B-70 | P-55 | 70X85X9-3 | 55X65X6-3 G95 | G75 S100 S80 - 125X100 - G45 | G120 | G125
$140 | K80 | K65 B-80 | P-65 | 80X95X9-3 | 66X75X6-3 G105 G865 G105 G865 = GBS | 140X115 - P50 | G135 | G140
¢150 | K85 | K65 B-85 | P-65 | 85X100X9-3 | 65X75X6-3 G110 | GO0 G110 GO0 = G60 | 150X125 - AN227 = G145 | AN257
$160 | KOO | K70 B-90 | P-70 | 90X105X9-3 | 70X85X9-3 G115 G9 G115 G95 = G60 | 160X135 - AN227  AN258  AN259
¢180 | K100/ K80 B-100  P-80 |100X115X9-3| 80X95X9-3 G125 | G105 G125 G105 G70 | 180X155 - AN230  AN261 | AN262
$200 K112 K90 | B-112 | P-90 112X125X9-3 90X105X9-3 G140 G115 G140 G115 G80 = 200X175 - AN233  AN264  AN265
¢224 K125 K100 B-125| P-100 125X140X9-3|100X116X9-3 AN257 G125 AN257 G125 GO0 |224X204X12 224X216X40 P80 = G210 | G220
¢250 | K140 K112 | B-140 | P-112 |140X115X9-3|112X125X9-3 AN260 G140 AN260 G140 | G100 & 250X225 = P90 | G240 | G250

863

www. TPCpage.co.kr



THS Al2|=

30~0160

7J + STROKE
OE A w LF + STROKE
O RR T Fp P + STROKE 2—EE
© 4-DD
i m—
K E eS|
f\ @ .
© kj g ® of 3 @ @7'
= | =C 9
KK fi ql“]
© F J H + STROKE K
LZ + STROKE W + STROKE A
T
T == —
- _@_._._ _— =
>
L L [ KK
» SENSOR MEHAFSH
1) A7|2HE(EZ TYPE) 2) HEHZNY
il RO e BR211 BR451
S3{F | DC24V / ACI00V / AC200V S3tEY DC20-50V | ACB0-220V  sgye: meso) oo
» Dimension
(H<:nm)
E SRR R i R Rl L L R G
Uz -lsllm-lIﬂlm-I
830 $30 |M14x15| 816 M8x125 PT1/4" 107 120 137
940 840 M20x15 622 50 45 25 40 M16x15 818 50 45 MI0x15 65 PT3/8" 1 166

850 35 845 |M24x15| 828 | 63 | 45|30 |40 M20x15 822 50 |45 MI0x15 75 PT1/2" 13 40 68 44 30 155 182 100 54 30 185
$63 | 45 | 855 M30x15 835 71 55 35 45 M24x15 ¢28 63 55 Mi2x175 90 |PT1/2" 15 44 |72 46 30 163|194 104 65 35 198
¢80 | 60 | 865 M39x15| 645 80 |55 45 55 M30x15 ¢35 71 55 Mi6x2 | 110 |PT3/4" 18 | 51 74 56 36 |184|222| 115 80 35 219
¢100 | 75  @©75 M48x15| @55 100 55|60 65 M39x15 845 80 55 M20x25 135 PT3/4" 20 53 80 56 36 192 232 121 102 40 232
$125| 95 | @95 | MB4x2 | @70 125 65|75 75 M48x15 855 100 65 M22x25|165 PT3/4" 24 62 84 66 46 220 264 135 122 45 265
¢140 110 | @105 M72x2 | 880 125 65 80 85 M56x2 | 865 125 65 M24x3 185| PT1" 26 67 | 96 64 44 230 276|142 138 50 280
¢150 115 | @110 | M76x2 | 885 140 | 65 85 90 M60x2 | 865 125 65 M27x3 196| PT1" 28 69 |104 64 44 240 288|150 148 50 290
¢160 120 | @115 | MB0x2 | 890 140 | 65| 95 95 M64x2 | 870 125 65 M27x3 |210| PT1" |31 74 104 69 | 49 253 304|156 160 55 308

864




030~0250

> 7128 (SDE)

ZJ + STROKE
OE A w LF + STROKE
O RR Z|CH6 FP P + STROKE 2-EE
® 4-DD
g} J@F 4 Tt T
© f\ g ® o F L
&/ @
@ T O </ 5
© F J H + STROKE K
LZ + STROKE W + STROKE A
€
i - .
L $100 | 897 612 wzygﬁd T ik
s 1 =
o112 | o108 015 & @& 18 2
© o125 | o121 @15 QH :
9140 | 136 | o15 I — [ KK
35
" " - BRI BRHA| x - [Hg 2& X
il mﬂﬂﬁﬁ P @40~@50 | STROKE/ 1/35
- = ;] e | ess-gio |sorer s
o5 LolZEIBE | 80 (EF) “zlﬁﬂUUWfM | @125-9200  STROKE/ /s
HeZH | 130T (HLe) I — ©224~@250 | STROKE/ V/s

p» Dimension
(=+2f:mm)

N VR ITIUE Ca ci rireANl  R  Ca C Ka
EE FP F yA|
i o e e

Ll
830 #30 10 M14x15] #16 M8x1.25 PT1/4" 98 52 115
840 840 10 M20x15 822 50 45 25 640 8 Mi6x15| @18 | 50 45 MI0x15 PT3/8" 141 166| 0
850 35 $45 |10 M24x15| 628 63 |45 30 @40 8 M20x15| 822 | 50 |45/ MI0x15 75 PT1/2" 13 40 68 44 30 155 1182 | 100 54 30 185
7
8

#6345 855 10 M30x15 @35 71 55 35 @45 M24x15 828 63 |55 MI2x175 90  PTi/2" |15 44 72 46 30 163 194|104 65 35 198
$80 | 60| 865 10 M39x15 @45 80 55 45 @55 M30x15 835 71 |55 Mi6x2 | 110 | PT3/4" 18|51 74 56 36 184 222 115| 80 35 219
$100 75 @75 10 M48x15| 855 100 55| 60 @65 |6 M39x15 @45 80 |55 M20x25 135 PT3/4" 20|53 80 56 36 192 232| 1211102 | 40 | 232
¢125/ 95| 995 10| MB4x2 | 870 125 65|75 @75 10 M48x15 @55 100 65 M22x25 165  PT3/4" 24 62 84 66 46 220 264 135 122 45 265
#6140 110 8105 10 M72x2 @80 125 |65 80 @85 10 MS6x2 @65 125 65 M24x3 185 PT1" 26|67 |96 |64 44 230 276|142 138 | 50 | 280
¢150 115 ¢110 10| M76x2 | ¢85 140 |65 85 @90 10 M60x2 @65 125 65| M27x3 196 PT1" 28|69 104|64 44240 288 150 148 | 50 | 290
#6160 120 @115 10 MB0x2  #90 140 |65 95 @95 10 M64x2 @70 125 65 M27x3 210 PT1" 31|74 |104|69 49 253 304|156 160 | 55 |308
¢180 140 | #125 10| M95x2 | 8100 160 65| 110 @105 10 M72x2 @ ¢80 125 65 M30x35 235 PT11/4" /33 75 110 73 59 275|322 173 182 55 330
$200 |150| @135 10 M100x2 @112 180 65 120 @115 10 M80x2 | 890 140 65 M33x35 262 PT11/2" 37 85 114 83 67 301 354|184 200 | 55 | 356
$224180| @150 10 M120x2 | #125 180 |80 140 125 10 M95x2 | #100 160 80 Md42x45 292 PT11/2" 41|89 | 114 83 67 305 362 184 225 60 365
$250 195| @170 10| M130x2 | @140 200 80 150 @140 10 MI00x2 | ¢#112 180 80 M42x45 325 PT2" |46|106|126 104 84| 346 411 |200 250 | 65 | 41

865

www. TPCpage.co.kr



THS Al2|=

040~0250

A W LF + STROKE

OE 2|6

%

&)
©

o ¢

M® T O «/ |

us xS SS + STROKE

XW + STROKE

B _W + STROKE A
(& R W 7‘
7 \
o T T : B T =
B G ==
35 ‘ : A—h—(
ST : = = KK
Tl 2100 097 812 \ SZ + STROKE \ XS + STROKE
= & o112 | 8108 | @15
i I 6125 | 8121 815
BT L 6140 | @136 | 815
DP:15
» Dimension
(E<:mm)
NS B e M ) 1 1 G 1 B 1
940 M20x15 | 822 MI6x15 818 PT3/8" 141 375+015 @11 12 | 95 | 118 155
950 35 M24x15 | 28 30 M20x15 822 PT1/2" 825 155 | 45+015 @614 108 122 | 115 | 145

$63 45 M30x15 @35 | 35 M24x15 828 90 PT1/2" | 95 | 163 50+0.15 @18 106 19 32 32 18 122 | 132 165 35 71 177
¢80 60 M39x15 @45 45 M30x15 835 110 PT3/4" 115 184 60025 @18 124 |25 42 42 | 18 144 155 190 35 74 198
¢100 75 |M48x15| #55 | 60 |M39x15| @45 135 PT3/4" 1385 192 71+025 22 122 27 38 | 38 22 142 | 190 | 230 40 | 85 | 207
¢125 95 | M64x2 | 870 | 75 M48x15| @55 165 PT3/4" 167.5 220 85+025 ©26 136 32 41 | 41 25 156 224|272 45 | 99 | 235
¢140 110 | M72x2 ¢80 80 | M56x2 | #65 185 PTI" |187.5 230 95+025 026 144 | 35 | 41 | 41 | 25 164 | 250 300 50 | 106 250
¢150 115 M76x2 @ ¢85 85 | M60x2 | 65 196 PT1" | 204 240 106+025 @30 146 37 | 38 38 28 166 270 320 50 | 111 257
#6160 120 M80x2 890 95 | M64x2 | ¢70 210 PT1" | 217 253 112025 @33 150 | 42 | 40 | 40 | 31 170 | 285 345 55 | 122 272
¢180 140 M95x2 | 100 110 | M72x2 | ¢80 235 PT11/4" 2425 275 125+025 833 172 47 50 | 36 35 186 315|375 55 | 123 | 295
$200 150 M100x2 | @112 120 MB0x2 | 890 262 PT11/2" 271 | 301 140+025 @36 186 52 | 56 40 | 39 202 355 425 55 131 317
¢224 180 Mi20x2 8125 140 M95x2 | 100|292 PT11/2" | 296 305 150+0.25 @42 186 52 | 56 | 40 39 202 395 475 | 60 | 140 326
$250 195 M130x2 | 140 150 MI100x2 | @112 325 PT2" 3325 346 170025 | #45 206 | 57 | 68 | 48 47 | 225|425 515 65 | 1568 364

866




gz THS Al2|=

I
b
i

030~0250
> SUSSES (1B2)
XA + STROKE
OE ER A w LF + STROKE
® 2—EE
©LL© -+
7 * -
e 0 -
2 < KK LH -— — .
1 - \ i —
\—R—J 4-AB M
UA ‘AO SA + STROKE
] _W+STROKE__ A
[ A A B
= — ® ® 0 1
% L (s =
] i) KK
J ol 8100 897 612 | |
= i o1z o108 o015 ‘ oot
1 em5 | et o5
= 6140 | 9136 @15
» Dimension
(h2f:mm)
E-m-m - d lal - il
930 Mi4x15 | 816 655 38+015 131 138
940 30 M20x15 822 25 Mi6x15 818 ¢11 755 | 43015 PT3/8"

#50 35 M24x15) ¢28 30 |M20x15| 622 @14 | 875 50+015 35 15 8 75 PT1/2" 155 58 225 252 85 30 220
863 45 M30x15| ¢35 |35 M24x15 ¢28 @18 105 60015 | 42 18 10 | 90 PT1/2" | 163 | 65 | 247 278 98 | 35 | 240
$80 60 M39x15 @45 45 M30x15| ¢35 | @18 @ 127 | 72+025 < 50 20 12 110 = PT3/4" | 184 87 | 284 322 118 35 | 269
#6100 75 M48x15 855 60 M39x15 @45 @22 1525 | 85+025 | 55 | 23 | 12 135  PT3/4" | 192 109 302 342 | 150 40 @ 287
$125 95 MB4x2 | 870 | 75 |M48x15| @55 826 1875 105t025 | 66 29 15 165  PT3/4" | 220 | 130 352 | 396 175 | 45 | 331
9140 110 M72x2 | ¢80 80 MS6x2 | ¢65 @26 2075 115025 | 70 A 30 @ 18 | 185 PT1" 230 | 145 | 370 | 416 195 | 50 K 350
8150 115 M76x2 | 685 85 | MBOx2 | 865 ¢30 = 221 | 123025 | 75 30 18 196 PT1" 240 155 | 390 438 210 | 50 365
#8160 120 M80x2 690 95  Me4x2 | @70 @33 237  132£025 | 75 35 18 210 PT1" 253 | 170 | 403 454 225 | 55 | 383
$180 140 M95x2 @100 110 M72x2 | 880 @33 ' 2655| 148025 | 85 | 40 | 20 235 PT11/4" | 275 185 445 492 243 | 55 | 415
$200 150 MI100x2 @112 120 M80x2 | ¢90 ¢36 296 = 165+025 & 98 | 40 | 25 | 262 | PTi1/2" | 301 206 | 497 550 272 55 | 545
$224 180 M120x2 8125 140 M95x2 | 8100 @42 = 331  185+025 | 115 | 45 | 30 | 292 | PT11/2" | 305 230|535 592 310 60 | 480
$250 195 M130x2 | #140 150 M100x2 | #112 | @45 |370.5 | 208+025 | 130 50 | 35 | 325 PT2" 346 | 250 | 606 | 671 335 | 65 | 541

867

www. TPCpage.co.kr



THS Al2|=

030~0250

2||_|

> ZEE SUXH (FAY)

UF A W LF + STROKE

T 4B F LL + STROKE

@@ KK

OE Z|che WF

. LZ + STROKE W + STROKE A
m
, i seamc
. ® ! —
[ ] KK
o [ Al 8100 697 012
= ks 8112 | 6108 015
o N 8125 o121 615
= 6140 = 9136 015
» Dimension
(E<:mm)
[N G T ra el ol 8 A K A A
-ﬂl--ﬂI-m

830 830 M14x15 | 816 PT1/4" 102
240 30 840 10 M20x15 | 822 | 25 @40 10 MI6x15 @18 PT3/8" ¢11 166
850 35 #4510 M24x15 @28 30 | 640 | 8 M20x15| 822 75 PT1/2" 85 13 814 155 142 182 58 115 145 30 43
963 45 @55 10 M30x15 35 35 @45 8 M24x15 @28 90 PT1/2" | 98 | 15 | @18 163 148 194 65 132 165 35 50
¢80 |60 @665 10 M39x15 @45 | 45 @55 |7 M30x15 ¢35 110 PT3/4" 118 | 18 | @18 184 166 | 222 | 87 155 190 | 35 | 53
9100 | 75 | @75 10 M48x15| @55 | 60 @65 8 M39x15| @45 135 | PT3/4" | 150 | 20 @22 192 172 | 232 109 190 230 40 60
$125 95 895 10 M64x2 | 870 75 @75 6 M48x15 @55 | 165 PT3/4" | 175 24 |26 220 196 264 | 130 | 224 272 45 | 69
¢140 110 @105 10 M72x2 | ¢80 80 @85 10 MS6x2 | @65 185 | PT1" |195| 26 @26 230 204 276 145 250 300 | 50 76
¢150 115 @110 10 M76x2 | ¢85 85 @90 10 M60x2 | @65 196 | PT1" |210| 28 @30 240 212 288 155 270 320| 50 78
#160 120 @115 10 M80x2 | ¢90 95 @95 10 Me4x2 | @70 210 | PTI" |225| 31 ¢33 253 222 304 170 285 345| 55 86
¢180 140 @125|10 M95x2 | ¢100 110 8105 10 M72x2 | 880 235 PT11/4" | 243 33 @33 275 242 322|185 315 375 55 88
9200 150 ©135|10 M100x2 | 8112 120 @115 |10 | M80x2 & @90 262 PT11/2"|272 37 ©36 301 264 354 206|355 425 55 | 92
$224 180 @150 |10 M120x2 | @125 140 @125 10 M95x2 | 8100 | 292 | PT11/2" | 310 41 @42 305|264 362 230 395|475 60 101
8250 | 195| ¢170 | 10| M130x2 | ¢140 | 150 @140 10 M100x2 | @112 | 325 PT2" |335 46 @45 346 300 411|250 425 515 | 65 | 111

—

868




030~0250

UF

LF + STROKE F TF 4-FB

2-HE 4

T s & »@Km\@ a4

L esel!

ZF + STROKE Zche 0OE

>
=

KK

T
ﬁ i
¢
©

LZ + STROKE W + STROKE A

i =1

8100 897 812
8112 8108 815
8125 8121 815
8140 8136 815

&
——

2-DF

DP:15
» Dimension
(<:nm)
N e i L E T T
930 M14x15 216 T1/4"
240 30 M20x1.5 @22 | 25  M16x15 018 PT3/8" ¢11 166 182

850 | 35  M24x15 | @28 30 M20x15 | @22 75 PT1/2" 85 13 814 155 182 58 115 145 30 198
963 | 45  M30x15 | 835 35 | M24x15 | ¢28 | 90 PT1/2" 98 15  ¢18 163 194 | 65 132 165 | 35 @ 213
80 | 60 | M39x15 | @45 45  M30x15 ¢35 110 = PT3/4" 18 | 18 @18 | 184 222 | 8 | 165 | 190 | 35 | 237
¢100 75 M48x15 | @55 60 M39x15 & @45 135  PT3/4" 150 20 @22 192 232 | 109 190 230 @ 40 | 252
6125 95  M64x2 870 | 75 | M48x15 | @55 165 = PT3/4" 175 24 | 826 220 264 | 130 224 272 | 45 | 289
8140 110 M72x2 880 80 = Mb56x2 865 185 PT1" 195 26 | ¢26 | 230 276 @ 145 | 250 | 300 | 50 = 306
8150 115 | M76x2 85 85  M60x2 865 | 196 PT1" 210 | 28 | 830 | 240 288 H 155 | 270 A 320 | 50 | 318
¢160 120  M80x2 890 @ 95 | MB4x2 870 | 210 PT1" 225 | 31 | ¢33 | 253 304 170 | 285 | 345 | 55 | 339
¢180 140 | M95x2 | 8100 110 = M72x2 880 235 PT11/4" 243 | 33 | 833 | 275 | 322 | 185 | 315 375 | 55 | 363
9200 150 | M100x2 | @112 120 = M80x2 890 | 262 PT11/2" | 272 37 836 | 301 354 206 355 | 425 | 55 @ 393
$224 180 MI120x2 | @125 140 = M95x2 | @100 292 | PT11/2" 310 41 | @42 | 305 362 230 395 475 | 60 | 406
9250 195 | M130x2 | @140 150 = M100x2 | @112 325 PT2" 335 | 46 | 645 | 346 | 411 | 250 | 425 | 515 | 65 | 457

869

www. TPCpage.co.kr



THS Al2|=

870

= It - -
p 2E= SHIX|H (FCEoﬂ)
A w LF + STROKE
4=my F LL + STROKE
A ; (] 2-EE
Vooe C\E
AN T A i .
6 LIo @ a8 aais:
w w /FN = 47\
=1 = +——0 K% ®=— o 3 ﬁ&/ @ @,
2 K Y h
SO ) < — -
) (“3 @
P j ]
OE ) WF
c _
T LZ + STROKE W + STROKE A
) |
T T I
L
% ) o]
- ® el — g
{ 2cF = \ﬂ
L ;9 L 8100 097 12
8112 2108 @15 —
2-DF —
206 / o125 | of21 ol
140 #136 @15
» Dimension
(=+2f:mm)
26y
68) 2238 FB | LF | LL UF WF
-ﬂ--m-ﬂ--
940 940 M20x15 | 822 840 M16x15| @18 pT3/8" 811 141 130 | 166 118
950 @45 10 M24x15 028 30 840 8 M20x15| 822 PT1/2" ®14 155 142 182 115 145
963 45 855 10 M30x15 @35 | 35 @45 8 M24x15 @28 90 PT1/2" 15 818 163 148 194 65 132 | 165 35 50
980 60 @65 10 M39x15 @45 45 @55 |7 M30x15 @35 110 PT3/4" 18 @18 184 166 222 87 | 155 190 35 53
100 | 75 @75 10 Md48x15 @55 60 @65 8 M39x15 @45 135 PT3/4" | 20 @22 192 172 | 232 109 | 190 | 230 40 60
9125 | 95 @95 10 M64x2 @70 |75 @75 6 M48x15 @55 165 PT3/4" | 24 26 220 196 | 264 130 224 | 272 45 69
9140 110 | 105 10 M72x2 @ ¢80 | 80 | @85 10 M56x2 | @65 185 PT1" 26 926|230 204 276 145 250 300 50 @76
9150 115 @110 10 M76x2 @85 85 890 10 M60x2 @65 196 PTI" 28 @30 240 212 288 155 270 320 50 78
9160 120 @115 10 M80x2 @90 95 995 10 M64x2 @870 210 PT1" 31 833253 222 304 170 285 345 55 86
9180 | 140 @125 10 M95x2 | @100 110 @105 10 M72x2 = @80 235 PT11/4"| 33 @33 275 242|322 185 315 375 55 88
200 150 | @135 10 M100x2 @ @112 120 @115 10 M80x2 & 890 262 | PT11/2" 37 @36 301 264 | 354|206 355 425 55 92
9224 180 | ¢150 10 M120x2 @125 140 @125 10| M95x2 & @100 292 PT11/2"| 41 @42 305 264 362 230 395 475 60 @ 101
9250 195 @170 10 M130x2 | @140 150 @140 10| M100x2 @112 325 PT2" 46 @45 346 300 411 250 425 515 65 111




got g2x8 gz THS A|2[X

040~0250

A w LF + STROKE F

|
|
I
@
|
|
.
©
.
|
!

« T & |-

ZF + STROKE ‘ B oE

LZ + STROKE W + STROKE A
35 T BEanl
I ‘ " H ‘ W
B 6100 897 @12 & & OC) fo | =z
n A g2 | 2108 615 =
= )T’ KK
| 9125 | o121 015 —
oor L 9140 | 8136  #15
DP:15 J
» Dimension
(=+2{:mm)
Nnasrmne-erdiaia i E R E
U -_m-_m
340 M20x15 | 822 M16x1.5 PT3/8"
50 35 M24x15 | 028 30 M20x15 ¢22 PTI/2" ¢14 198

863 | 45 | M30x15 835 | 35 | M24x15 @ 928 90 PT1/2" 15 818 163 194 65 132 165 35 213
880 | 60 = M39x15 845 45 | M30x15 835 | 110 | PT3/4" 18 818 184 | 222 87 155 190 35 237
9100 75 = M48x15 855 = 60 | M39x15 = @45 | 135 | PT3/4" 20 822 | 192 | 232 | 109 190 | 230 40 252
8125 95 M64 x2 870 75 | M48x15 = @855 | 165 | PT3/4" 24 826 | 220 | 264 @ 130 | 224 | 272 45 289
8140 | 110 M72x2 80 | 80 | MS56x2 865 | 185 PT1" 26 826 | 230 | 276 | 145 | 250 | 300 50 306
8150 115 M76x2 885 | 85 | M60x2 865 | 196 = PTI" 28 30 | 240 288 @ 155 & 270 | 320 50 318
8160 120  M80x2 890 | 95 | M64x2 870 | 210 | PTI" 31 833 | 253 | 304 | 170 | 285 | 345 55 339
9180 | 140 | M95x2 8100 | 110 | M72x2 880 | 235  PT11/4" 33 ®33 | 275 | 322 | 185 315 | 375 55 363
$200 | 150  M100x2 ¢112 | 120 | M80x2 890 | 262  PT11/2" 37 836 301 354 | 206 | 355 | 425 55 393
9224 180  M120x2 | @125 | 140 = M95x2 | @100 | 292 PT11/2" 41 842 | 305 | 362 | 230 | 395 | 475 60 406
250 195  M130x2 | @140 150 = MI100x2 & @112 | 325 | PT2" 46 845 | 346 am 250 | 425 | 515 65 457

871

www. TPCpage.co.kr



THS Al2|=

030~0250

b U SYH|IAH (CAT)

XC + STROKE
A w LF + STROKE L ZHe OE
2-EE LR el
®

T T ors T
- S8 Ol D

©
8
, 2100 = 097 612
n A g2 | 108 15
il 8125 o121 | @15
»or || p140 | 8136 015
DP:15
» Dimension
(h2f:mm)
S
-—m-—ml----ﬂ-
‘ Mi4x15 | 916 PT1/4" 2 140
30 M20x15 | 222 | 25 @ MI6x15 918 ms PT3/8" :31

35 M24x15 | 828 | 30 M20x15 822 | 820 75 PTI/2" 315 2} 45 155 25 20 30 230
45  M30x15 | #35 35 M24x15 828 @315 | 90 = PTi/2" | 403, 63 | 163 | 46 315 @ 35 261
60 M39x15 845 | 45 M30x15 635 | #315 110 | PT3/4" | 403, 72 | 184 | 52 | 315 35 | 291
75 | M48x15  @#55 @ 60 < M39x15 @45 = 640 135 | PT3/4" 50 :3_11 84 192 62 40 40 316
95 Me4x2 | 870 | 75 M48x15 855 | 650 | 165 = PT3/4" | 6351 100 | 220 | 73 | 50 | 45 | 365

10 | M72x2 880 | 80 & MS6x2 | 865 863 | 185 PT1" 80 55 | 120 230 | 91 63 50 400
15 | M76x2 85 | 85 | M60x2 | @65 863 | 196 PT1" 80 55 122 240 91 63 50 412
120 | M80x2 890 | 95  M64x2 | @70 871 | 210 PT1" 80 55 | 137 253 | 103 n 55 445

140 | M95x2 | @100 | 110 = M72x2 | @80 #80 235 | PT11/4" | 100 3§ | 150 275 100 80 55 480
150 | M100x2 | @112 | 120 M80x2 | 690 990 | 262 | PTI1/2" 12534 | 170 301 | 15 90 55 526
180 | M120x2 | 125 | 140 | M95x2 | 100 | @100 | 292 | PT11/2" | 125 31 = 185 305 125 100 60 550
195 | M130x2 | 140 | 150 = M100x2 | @112 & @100 | 325 PT2" 125 31 | 185 346 | 125 100 65 596

872




030~0250

> O|AF 23|H|AH (CBE)

XC + STROKE . OE
A W LF + STROKE L uB
2—EE LR EW
®
T T ) LY T —
- T
§ % @ @ (0}
KK - — — - —
©
3
2100 097 | @12
o112 | 0108 @15
L ;*Q 9125 | @121 | 915
u 9140 | @136 015
2-DF
DP:15
» Dimension
(<:nm)
B T v R R R e A A
U --INI--IIMI
930 Midx15 = 016 T1/4" 24
940 30 M20x15 | 822 | 25 M1BX15| 918 ¢16 PT3/8" :8;‘

$50 | 35 M24x15 928 30 M20x15 922 920 75 PTI/2" 315 o} 45 155 25 20 63.5 30 230
$63 | 45 M30x15 35 35 M24x15 @28 @315 90 PTY2" 403! 63 163 46 315 80 35 261
980 | 60 M39x15 945 45 M30x15 @35 @315 10 PT3/4" 403! 72 184 52 315 80 35 291
$100 75 M48x15 #55 60 M39x15 @45 940 135 PT3/4" 5037 84 | 192 62 40 100 40 | 316
$125 | 95 MB4x2 870 75 M48x15 @55 @50 165 PT3/4" 630 100 220 73 50 126 45 | 365
p140 110 M72x2 | ©80 80  MS6x2 @65 @63 185 PTI" | 80.° 120 230 91 63 | 160 50 400
6150 115 M76x2  ©85 85 MB0x2 @965 #63 196 PTI" | 80.° 122 240 91 63 | 160 | 50 412
160 120 M8Ox2 = 690 95  Me4x2 70 @71 210 PTI" | 80:° 137 253 103 71 | 160 55 445
180 140 M95x2 | #100 110  M72x2 80 80 235 PTI1/4" 1000 150 275 100 80 | 200 = 55 480
$200 | 150 | M100x2 | o112 | 120 | M80x2 | #90 90 262 | PTI1/2" 12535 170 301 15 = 90 251 55 | 526
§224 180 M120x2 9125 140 M95x2 100 4100 292 PTI1/2" 1255% 185 305 125 100 251 60 550
$250 195 M130x2 9140 150 MI00x2 @112 | 6100 325 PT2' | 1253% 185 | 346 125 100 251 @ 65 596

873

www. TPCpage.co.kr



THS Al2|=

@40~0160

> ZEE ERL2Y (TAR)

um A W LF + STROKE
TL ™ TL 2—EE
® /
2 {@ @F BEIE:
o [ %N ol ¥ 3 N &
(LS R\SN S N2
Sl K
i T T I
g
% XG
ZJ + STROKE
LZ + STROKE W + STROKE A
T T
I H W ‘ H
B & ) 4 I =
35 (I
{ Rl I KK
= ;Q #6100 | 897 | o612 XG
L 6112 ?108 ?15
2-DF 6125 9121 @15
DP15 6140 ?136 @15
» Dimension
(=+2f:mm)
e o I-IIII-IIIII
TD TL TR UM XG ZJ
--INI--I!MI
040 M20x15 | @22 M16x1.5
950 35 M24x15 | 828 30 M20x1.5 ¢22 PT1/2" 155 ¢25 85 .035 R25

863 | 45 M30x15 ©35 | 35 |M24x15| ©28 90 PT1/2" | 163 194 831.5 31.5 98 28 35 | R2.5 161 35 74 198
980 | 60 |M39x15 45 45 M30x15 35 | 110 | PT3/4" 184 | 222 | ¢315 315 1183 05 R25 | 181 35 | 8 | 219
8100 75 M48x15| 855 | 60 M39x15 @45 | 135 | PT3/4" 192 | 232 | 940 | 40 | 145 ° -o 4 R3 | 225 40 | 89 | 232
9125 95 | M64x2 @70 | 75 M48x15 55 | 165 | PT3/4" 220 @ 264 @50 @50 | 175 3, R3 | 275 45 | 103 | 265
8140 110 | M72x2 | ¢80 | 80 | M56x2 | 465 @ 185 PT1" | 230 | 276 | 663 | 63 | 195 :8 s R4 321 50 | 112 | 280
8150 115 M76x2 | ¢85 | 85  M60x2 | @65 196 PTI" | 240 288 | 263 63 206 3, | R4 332 50 | 112 | 290
8160 120 | M80x2 | @90 | 95 | M64x2 | 470 & 210 PTI" | 253 | 304 | @71 | 71 2185, R4 360 55 123 | 308

874




040~0250

UM A W LF + STROKE
TL ™ TL 2-EE BD
®
N T A T T
J@EINREIp; o i T
I— ©® m ®—14 % § a4 &N @ fl\ ,@,
et S
e TS 7 | G =B
i
©
OE Z|CHe X H STROKE/2
ZJ + STROKE
[] LZ + STROKE W +STROKE A
T T IR
LI LR
& 4 ® ) s I =
35 L1 J éﬁ(@ﬁ 3
— KK
< & 2100 897 912 XI + STROKE/2 = PH
| o112 9108 015
. L o125 o121 @15
o 8140 | o136 815
» Dimension
(=+2f:mm)
inEsnnesnEEEOEEREIRONNR
LF D ™ UM Xl ZJ)
--m--m
040 M20x15 | @822 M16x1.5 pT3/8"
950 35 M24x15 | 928 30 M20x1.5 ¢22 PT1/2" ¢25 85 .035 R25

963 | 45 | M30x15 | 835 | 35 | M24x15 | 928 43 90 PT1/2" 163 194 831.5 31.5 98 _0 35 | R2.5 161 35 132 198
$80 | 60 | M39x15 @45 45 M30x15 @35 43 | 110 | PT3/4" 184 | 222 ' ¢315 315 118 : _0 35 R25| 181 | 35 | 146 | 219
8100 75  M48x15 @55 60 <M39x15 | @45 53 | 135 | PT3/4" | 192 232 | 640 40 | 145 _0 + | R3 | 225 40 156 @232
9125 | 95 | M64x2 | 870 75 M48x15 @55 58 | 165 | PT3/4" | 220 | 264 @850 | 50 | 175 : _0 .« R3 | 275 45 177 | 265
8140 110 = M72x2 | 880 80 | M56x2 @ @65 78 | 185 | PTI" | 230 | 276 | 463 = 63 | 195 . ,0 | R4 | 321 | 50 188 @ 280
8150 115 M76x2 ¢85 85 M60x2 | #65 78 | 196 | PTI" | 240 288 @63 63 |206 _0 % R4 | 332 50 | 194 290
#8160 120 M80x2 | 890 95  M64x2 « ¢#70 88 | 210 | PTI" 253 | 304 | 71 71 |218 .0 5 R4 | 360 55 | 207 308
#180 | 140 M90x2 | @100 110 M72x2 | @80 98 | 235 |PT11/4"| 295 322 @80 80 |243 _0 % | R4 | 403 | 55 216 330
9200 | 150 = M100x2 | @112 | 120 M80x2 @90 108 262 |PT11/2" 301 354 690 90 272 35, R5 | 452 55 | 232 | 356
9224 | 180  MI120x2 | #125| 140 M95x2 | 100 117 | 292 |PT11/2" 305 362 100 100 1300 35, R5 | 500 60 | 241 | 365
$250 195  M130x2 140 | 150 @ M100x2 @12 | 117 | 325 = PT2 | 346 411  100| 100 335 55 R5 | 535 | 65 @ 271 | 411

875

www. TPCpage.co.kr



876

THS Al2|=

030~0250
p 2L MEt g|
UL HSZQIE (&) OJA LIZXOIE (V&)
.CD Hio RF KK __CDHI0 RF KK
P I N 4
£ o 5 E HH6
' %-—[_[gj_/
RA 0
ER CA ER CA SET_SCREW
cc SET_SCREW cc /
H
o el N N —
° N2 LV © N |
AN ~ LL\‘?}
» Dimension

(42]:m)

— S I
-- -

| -
50 | 20 24 4 5
60

930 812 oso 2 :3;‘ 7 |M14x15
940 23 | 27 816 | 839 32 125 20 16 25 :8‘1 25 31 | 8 M20x15 Mi6x15 80 76
850 70 28 | 32 620 @49 40 16 25 | 20 | 31537 | 31551 10 M24x15 M20x15 95 | 90
963 115 43 | 50 #315 @62 60 20 35 30 | 40 :3;} 40 397 | 15 M30x15 M24x15| 150 | 145
880 115 43 | 50 315 @62 60 20 35 | 30 40' 40 391 | 15 'M39x15 M30x15 150 | 145
8100 145 | 55 | 60 @40 679 80 25 40 | 40 50 -04 50 107 | 20 M48x15 M39x15 185 & 185
9125 | 180 | 65 | 70 @50 @100 100 315 50 | 50 =~ 63, | 63107 |30 M64x2 M48x15 230 | 230
9140 | 225 | 85 90 @63 2130 120 40 65 | 65 80 0 | 801 |30 M72x2 MB56x2 290 | 290
9150 | 225 | 85 | 90 @63 @130 120 40 65 | 65 80 5 | 80107 |30 M76x2 M60x2 290 | 290
8160 | 240 | 90 | 100 = @71 @140 140 | 40 = 70 | 70 | 80 0§ | 805 |40 M80x2 | Me4x2 | 310 & 310
* () 0180 014 LIZXQIE HE 715, (292%)
> EE MEHHE » Dimension o
E
(oomeas) “IEI-IE“IEI--E
g . 930 | Mi4x15P
ﬂ 940 | M20x15P 30 34 12 - MI6x15P | 24 | 27 10 -
850 |M24x15P 36 41 |14 - |M20x15P| 30 | 34 12 -
NERRN 863 | M30X15P 41 | 47 | 11| - M24x15P| 36 | 41 14 -
980 |M39x15P 860 54 |12 7 |M30Ox15P| 41 | 47 11 -
8100 |M48x15P @70 63 15| 8 \M39x15P| @60 | 54 |12 7
e O 9125 | MB4x2P | 890 83 |22 11 M48x15P| 870 63 15 8
. " e 9140 | M72x2P | @110 810 25| 12 | M56x2P | #80 | #73 | 18 9
o ﬂ oPP g150 | M76x2P @110 810 25 12 MBOx2P @90 @78 20 11
o 9160 | MBOx2P 6120 #10 25 12  Me4x2P @90 83 22 1
@ %< a LN 9180 | M95x2P 6140 #12 30 15 M72x2P @10 810 25 12
. ’ 9200 | MI00x2P | 2140 812 30 15  MB0x2P 4120 @10 25 | 12
: 9224 | Mi20x2P | 2160 @14 30 15 | M95x2P @140 @12 30 | 15
9250 | MI30x2P | 8170 @14 |30 15  MI00x2P @140 @12 30 | 15

32 27 50
37 | 32 635
47 | 37 | 80
62 | 47 | 80
77 | 62 | 100
97 | 77 | 126
1n2 | 82 | 160
1n7 | 87 | 160
122 | 97 | 160

() 47| e e
2979 £2 U w50
W2t 241 2iof2 59 +
288 Y=L



